



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2021034

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 PN APJ T024201C APJ-0-(217)T		100840	PINAL	CENTRAL	3		Yusuf Kadem

Highway Termini	Location	Work Description
-----------------	----------	------------------

• CITY OF APACHE JUNCTION

• Old West Hwy Idaho Rd to Goldf

• Pedestrian Facilities Improvements

BID RESULTS FOR 2021034

Bid Opening Date : 9/5/2025, Prequalification Required, Engineer Specialist : Yusuf Kadem

Completion Date:

320 Working Days

The proposed work is located in the city of Apache Junction. The length of the project is 2.97 miles in total which includes work along Old West Highway, from Idaho Road on the west end to Goldfield Road on the east end of the project, and Winchester Road, from Broadway Avenue on the south end to Old West Highway on the north end. The work consists of constructing a new sidewalk along the south side of Old West Highway and on the west side of Winchester Road including sections that are attached with concrete curb and gutter and sections that are detached. The work includes several box culvert extensions, bridge railing, scuppers, pedestrian access ramps, guardrail modifications, seeding, signing and pavement markings, and other related work.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$4,363,048.75	DEPARTMENT ESTIMATE	\$4,363,048.75
1	-17.0%		\$3,620,748.15	D B A CONSTRUCTION INC. 1833 SOUTH 59TH AVENUE PHOENIX, AZ 85043-	\$3,620,748.15
2	-4.5%		\$4,167,420.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$4,167,420.00
NON-RESPONSIVE					\$0.00
DBE Affidavit Inaccurate & Incomplete					

Winning Bidder is 17.0% Under Department Estimate (Difference = (\$742,300.60))

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020009	CU.YD.	REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank	Department Estimate		50.000	\$2,200.000	\$110,000.00	
1	D B A CONSTRUCTION INC.			\$740.000	\$37,000.00	-66.4%
2	GRANITE CONSTRUCTION COMPANY			\$1,200.000	\$60,000.00	-45.5%
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND GUTTER				
Bid Rank	Department Estimate		179.000	\$29.000	\$5,191.00	
1	D B A CONSTRUCTION INC.			\$13.000	\$2,327.00	-55.2%
2	GRANITE CONSTRUCTION COMPANY			\$20.000	\$3,580.00	-31.0%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		4,240.000	\$12.000	\$50,880.00	
1	D B A CONSTRUCTION INC.			\$5.000	\$21,200.00	-58.3%
2	GRANITE CONSTRUCTION COMPANY			\$1.090	\$4,621.60	-90.9%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		3,969.000	\$20.000	\$79,380.00	
1	D B A CONSTRUCTION INC.			\$22.700	\$90,096.30	+13.5%
2	GRANITE CONSTRUCTION COMPANY			\$42.000	\$166,698.00	+110.0%
2020054	EACH	REMOVE (SIGNS AND POSTS)				
Bid Rank	Department Estimate		19.000	\$225.000	\$4,275.00	
1	D B A CONSTRUCTION INC.			\$225.000	\$4,275.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$165.000	\$3,135.00	-26.7%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department Estimate		1,674.000	\$8.000	\$13,392.00	
1	D B A CONSTRUCTION INC.			\$7.000	\$11,718.00	-12.5%
2	GRANITE CONSTRUCTION COMPANY			\$6.300	\$10,546.20	-21.3%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		639.000	\$100.000	\$63,900.00	
1	D B A CONSTRUCTION INC.			\$54.000	\$34,506.00	-46.0%
2	GRANITE CONSTRUCTION COMPANY			\$110.000	\$70,290.00	+10.0%
2030401	CU.YD.	DRAINAGE EXCAVATION				
Bid Rank	Department Estimate		58.000	\$150.000	\$8,700.00	
1	D B A CONSTRUCTION INC.			\$61.000	\$3,538.00	-59.3%
2	GRANITE CONSTRUCTION COMPANY			\$65.000	\$3,770.00	-56.7%
2030501	CU.YD.	STRUCTURAL EXCAVATION				
Bid Rank	Department Estimate		24.000	\$300.000	\$7,200.00	
1	D B A CONSTRUCTION INC.			\$386.000	\$9,264.00	+28.7%
2	GRANITE CONSTRUCTION COMPANY			\$150.000	\$3,600.00	-50.0%

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2030506	CU.YD.	STRUCTURE BACKFILL				
Bid Rank	Department Estimate		63.000	\$350.000	\$22,050.00	
1	D B A CONSTRUCTION INC.			\$280.000	\$17,640.00	-20.0%
2	GRANITE CONSTRUCTION COMPANY			\$160.000	\$10,080.00	-54.3%
2030901	CU.YD.	BORROW (IN PLACE)				
Bid Rank	Department Estimate		6,222.000	\$60.000	\$373,320.00	
1	D B A CONSTRUCTION INC.			\$77.000	\$479,094.00	+28.3%
2	GRANITE CONSTRUCTION COMPANY			\$114.000	\$709,308.00	+90.0%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		347.000	\$170.000	\$58,990.00	
1	D B A CONSTRUCTION INC.			\$201.000	\$69,747.00	+18.2%
2	GRANITE CONSTRUCTION COMPANY			\$130.000	\$45,110.00	-23.5%
4090003	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL)				
Bid Rank	Department Estimate		345.000	\$250.000	\$86,250.00	
1	D B A CONSTRUCTION INC.			\$327.000	\$112,815.00	+30.8%
2	GRANITE CONSTRUCTION COMPANY			\$170.000	\$58,650.00	-32.0%
5010011	L.FT.	PIPE, CORRUGATED METAL, 24"				
Bid Rank	Department Estimate		26.000	\$300.000	\$7,800.00	
1	D B A CONSTRUCTION INC.			\$330.000	\$8,580.00	+10.0%
2	GRANITE CONSTRUCTION COMPANY			\$230.000	\$5,980.00	-23.3%
5011015	L.FT.	PIPE, REINFORCED CONCRETE, CLASS V, 18"				
Bid Rank	Department Estimate		99.000	\$300.000	\$29,700.00	
1	D B A CONSTRUCTION INC.			\$173.000	\$17,127.00	-42.3%
2	GRANITE CONSTRUCTION COMPANY			\$230.000	\$22,770.00	-23.3%
5012592	EACH	STORM DRAIN PIPE (C-13.70 PIPE CONNECTION)				
Bid Rank	Department Estimate		1.000	\$4,000.000	\$4,000.00	
1	D B A CONSTRUCTION INC.			\$11,140.000	\$11,140.00	+178.5%
2	GRANITE CONSTRUCTION COMPANY			\$2,875.000	\$2,875.00	-28.1%
5030025	EACH	CONCRETE CATCH BASIN (C-15.20) ONE 11.5' WING, H=8' OR LESS				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
1	D B A CONSTRUCTION INC.			\$20,560.000	\$20,560.00	-31.5%
2	GRANITE CONSTRUCTION COMPANY			\$25,000.000	\$25,000.00	-16.7%
6010002	CU.YD.	STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank	Department Estimate		122.000	\$2,500.000	\$305,000.00	
1	D B A CONSTRUCTION INC.			\$1,375.000	\$167,750.00	-45.0%
2	GRANITE CONSTRUCTION COMPANY			\$1,900.000	\$231,800.00	-24.0%

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6011132	L.FT.	COMBINATION PEDESTRIAN-TRAFFIC BRIDGE RAILING				
Bid Rank	Department Estimate		297.000	\$1,000.000	\$297,000.00	
1	D B A CONSTRUCTION INC.			\$503.000	\$149,391.00	-49.7%
2	GRANITE CONSTRUCTION COMPANY			\$575.000	\$170,775.00	-42.5%
6050002	LB.	REINFORCING STEEL				
Bid Rank	Department Estimate		17,466.000	\$2.500	\$43,665.00	
1	D B A CONSTRUCTION INC.			\$1.800	\$31,438.80	-28.0%
2	GRANITE CONSTRUCTION COMPANY			\$1.800	\$31,438.80	-28.0%
6050101	EACH	PLACE DOWELS				
Bid Rank	Department Estimate		640.000	\$50.000	\$32,000.00	
1	D B A CONSTRUCTION INC.			\$32.000	\$20,480.00	-36.0%
2	GRANITE CONSTRUCTION COMPANY			\$27.000	\$17,280.00	-46.0%
6070054	L.FT.	SIGN POST (PERFORATED) (2 S)				
Bid Rank	Department Estimate		52.000	\$15.000	\$780.00	
1	D B A CONSTRUCTION INC.			\$10.000	\$520.00	-33.3%
2	GRANITE CONSTRUCTION COMPANY			\$9.000	\$468.00	-40.0%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)				
Bid Rank	Department Estimate		144.000	\$20.000	\$2,880.00	
1	D B A CONSTRUCTION INC.			\$13.000	\$1,872.00	-35.0%
2	GRANITE CONSTRUCTION COMPANY			\$11.000	\$1,584.00	-45.0%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank	Department Estimate		16.000	\$300.000	\$4,800.00	
1	D B A CONSTRUCTION INC.			\$480.000	\$7,680.00	+60.0%
2	GRANITE CONSTRUCTION COMPANY			\$411.000	\$6,576.00	+37.0%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		140.000	\$30.000	\$4,200.00	
1	D B A CONSTRUCTION INC.			\$29.000	\$4,060.00	-3.3%
2	GRANITE CONSTRUCTION COMPANY			\$24.500	\$3,430.00	-18.3%
6080110	EACH	REMOVE AND REINSTALL SIGN				
Bid Rank	Department Estimate		2.000	\$600.000	\$1,200.00	
1	D B A CONSTRUCTION INC.			\$980.000	\$1,960.00	+63.3%
2	GRANITE CONSTRUCTION COMPANY			\$822.000	\$1,644.00	+37.0%
6110201	L.FT.	METAL HANDRAIL				
Bid Rank	Department Estimate		426.000	\$125.000	\$53,250.00	
1	D B A CONSTRUCTION INC.			\$90.000	\$38,340.00	-28.0%
2	GRANITE CONSTRUCTION COMPANY			\$134.000	\$57,084.00	+7.2%

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		1,580.000	\$20.000	\$31,600.00	
1	D B A CONSTRUCTION INC.			\$26.000	\$41,080.00	+30.0%
2	GRANITE CONSTRUCTION COMPANY			\$24.000	\$37,920.00	+20.0%
7015020	EACH	TEMPORARY IMPACT ATTENUATORS (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		2.000	\$3,500.000	\$7,000.00	
1	D B A CONSTRUCTION INC.			\$3,250.000	\$6,500.00	-7.1%
2	GRANITE CONSTRUCTION COMPANY			\$2,990.000	\$5,980.00	-14.6%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		23,700.000	\$0.300	\$7,110.00	
1	D B A CONSTRUCTION INC.			\$0.200	\$4,740.00	-33.3%
2	GRANITE CONSTRUCTION COMPANY			\$0.200	\$4,740.00	-33.3%
7016021	EACH-DAY	TEMPORARY IMPACT ATTENUATORS (IN USE)				
Bid Rank	Department Estimate		30.000	\$70.000	\$2,100.00	
1	D B A CONSTRUCTION INC.			\$52.000	\$1,560.00	-25.7%
2	GRANITE CONSTRUCTION COMPANY			\$48.000	\$1,440.00	-31.4%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		4,425.000	\$1.000	\$4,425.00	
1	D B A CONSTRUCTION INC.			\$3.000	\$13,275.00	+200.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.060	\$265.50	-94.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		12,806.000	\$1.000	\$12,806.00	
1	D B A CONSTRUCTION INC.			\$6.000	\$76,836.00	+500.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.070	\$896.42	-93.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		11,588.000	\$0.500	\$5,794.00	
1	D B A CONSTRUCTION INC.			\$1.000	\$11,588.00	+100.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.060	\$695.28	-88.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		4,325.000	\$0.750	\$3,243.75	
1	D B A CONSTRUCTION INC.			\$1.000	\$4,325.00	+33.3%
2	GRANITE CONSTRUCTION COMPANY			\$0.060	\$259.50	-92.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		137.000	\$750.000	\$102,750.00	
1	D B A CONSTRUCTION INC.			\$750.000	\$102,750.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$1,050.000	\$143,850.00	+40.0%

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		11,588.000	\$1.000	\$11,588.00	
1	D B A CONSTRUCTION INC.			\$2.300	\$26,652.40	+130.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.060	\$695.28	-94.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		406.000	\$1.000	\$406.00	
1	D B A CONSTRUCTION INC.			\$2.600	\$1,055.60	+160.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.070	\$28.42	-93.0%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		127.000	\$50.000	\$6,350.00	
1	D B A CONSTRUCTION INC.			\$103.000	\$13,081.00	+106.0%
2	GRANITE CONSTRUCTION COMPANY			\$21.000	\$2,667.00	-58.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		56.000	\$75.000	\$4,200.00	
1	D B A CONSTRUCTION INC.			\$188.000	\$10,528.00	+150.7%
2	GRANITE CONSTRUCTION COMPANY			\$33.000	\$1,848.00	-56.0%
7016082	HOUR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank	Department Estimate		208.000	\$100.000	\$20,800.00	
1	D B A CONSTRUCTION INC.			\$118.000	\$24,544.00	+18.0%
2	GRANITE CONSTRUCTION COMPANY			\$120.000	\$24,960.00	+20.0%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		600.000	\$3.000	\$1,800.00	
1	D B A CONSTRUCTION INC.			\$4.000	\$2,400.00	+33.3%
2	GRANITE CONSTRUCTION COMPANY			\$3.400	\$2,040.00	+13.3%
7040074	EACH	PAVEMENT SYMBOL (EXTRUDED THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		4.000	\$475.000	\$1,900.00	
1	D B A CONSTRUCTION INC.			\$150.000	\$600.00	-68.4%
2	GRANITE CONSTRUCTION COMPANY			\$137.000	\$548.00	-71.2%
7320050	L.FT.	ELECTRICAL CONDUIT (2") (PVC)				
Bid Rank	Department Estimate		80.000	\$50.000	\$4,000.00	
1	D B A CONSTRUCTION INC.			\$104.000	\$8,320.00	+108.0%
2	GRANITE CONSTRUCTION COMPANY			\$88.000	\$7,040.00	+76.0%
7320435	EACH	PULL BOX (NO. 4)				
Bid Rank	Department Estimate		4.000	\$2,100.000	\$8,400.00	
1	D B A CONSTRUCTION INC.			\$3,250.000	\$13,000.00	+54.8%
2	GRANITE CONSTRUCTION COMPANY			\$2,740.000	\$10,960.00	+30.5%

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7320482	L.SUM	RESET AND/OR RELOCATE EXISTING PULL BOXES				
Bid Rank	Department Estimate		1.000	\$7,500.000	\$7,500.00	
1	D B A CONSTRUCTION INC.			\$4,940.000	\$4,940.00	-34.1%
2	GRANITE CONSTRUCTION COMPANY			\$4,153.000	\$4,153.00	-44.6%
7350012	EACH	LOOP DETECTOR TRAFFIC COUNTER SYSTEM (BICYCLE COUNTER)				
Bid Rank	Department Estimate		4.000	\$20,000.000	\$80,000.00	
1	D B A CONSTRUCTION INC.			\$15,600.000	\$62,400.00	-22.0%
2	GRANITE CONSTRUCTION COMPANY			\$14,245.000	\$56,980.00	-28.8%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		8.000	\$7,000.000	\$56,000.00	
1	D B A CONSTRUCTION INC.			\$7,000.000	\$56,000.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$4,773.000	\$38,184.00	-31.8%
8080286	L.FT.	PIPE (PVC) (6") (STORM DRAIN)				
Bid Rank	Department Estimate		88.000	\$175.000	\$15,400.00	
1	D B A CONSTRUCTION INC.			\$30.000	\$2,640.00	-82.9%
2	GRANITE CONSTRUCTION COMPANY			\$131.000	\$11,528.00	-25.1%
8080293	L.FT.	PIPE (PVC) (12") (STORM DRAIN)				
Bid Rank	Department Estimate		29.000	\$275.000	\$7,975.00	
1	D B A CONSTRUCTION INC.			\$47.000	\$1,363.00	-82.9%
2	GRANITE CONSTRUCTION COMPANY			\$200.000	\$5,800.00	-27.3%
8101014	L.FT.	EROSION CONTROL (SEDEMENT WATTLES) (20")				
Bid Rank	Department Estimate		2,241.000	\$5.000	\$11,205.00	
1	D B A CONSTRUCTION INC.			\$6.500	\$14,566.50	+30.0%
2	GRANITE CONSTRUCTION COMPANY			\$6.000	\$13,446.00	+20.0%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		1,009.000	\$2.000	\$2,018.00	
1	D B A CONSTRUCTION INC.			\$3.200	\$3,228.80	+60.0%
2	GRANITE CONSTRUCTION COMPANY			\$3.000	\$3,027.00	+50.0%
8101023	L.FT.	EROSION CONTROL (WATTLES) (12")				
Bid Rank	Department Estimate		1,345.000	\$4.000	\$5,380.00	
1	D B A CONSTRUCTION INC.			\$4.750	\$6,388.75	+18.8%
2	GRANITE CONSTRUCTION COMPANY			\$4.500	\$6,052.50	+12.5%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$420,000.000	\$420,000.00	
1	D B A CONSTRUCTION INC.			\$261,221.000	\$261,221.00	-37.8%
2	GRANITE CONSTRUCTION COMPANY			\$491,590.500	\$491,590.50	+17.0%

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080101	L.FT.	CONCRETE CURB AND GUTTER, TYPE A (MAG DET. 220-1)				
Bid Rank	Department Estimate		7,499.000	\$55.000	\$412,445.00	
1	D B A CONSTRUCTION INC.			\$58.000	\$434,942.00	+5.5%
2	GRANITE CONSTRUCTION COMPANY			\$54.000	\$404,946.00	-1.8%
9080108	L.FT.	CONCRETE SINGLE CURB (MAG DET. 222)(TYPE A) (
Bid Rank	Department Estimate		140.000	\$55.000	\$7,700.00	
1	D B A CONSTRUCTION INC.			\$60.000	\$8,400.00	+9.1%
2	GRANITE CONSTRUCTION COMPANY			\$87.000	\$12,180.00	+58.2%
9080241	SQ.FT.	CONCRETE SIDEWALK (MAG DET. 230)				
Bid Rank	Department Estimate		55,240.000	\$15.000	\$828,600.00	
1	D B A CONSTRUCTION INC.			\$11.600	\$640,784.00	-22.7%
2	GRANITE CONSTRUCTION COMPANY			\$11.000	\$607,640.00	-26.7%
9080296	EACH	CONCRETE SIDEWALK RAMP (MAG DET. 236-5 & MAG DET. 283-3)				
Bid Rank	Department Estimate		8.000	\$7,200.000	\$57,600.00	
1	D B A CONSTRUCTION INC.			\$4,030.000	\$32,240.00	-44.0%
2	GRANITE CONSTRUCTION COMPANY			\$6,700.000	\$53,600.00	-6.9%
9080351	SQ.FT.	CONCRETE DRIVEWAY (MAG DET. 250-2)				
Bid Rank	Department Estimate		4,046.000	\$25.000	\$101,150.00	
1	D B A CONSTRUCTION INC.			\$19.000	\$76,874.00	-24.0%
2	GRANITE CONSTRUCTION COMPANY			\$20.500	\$82,943.00	-18.0%
9080512	EACH	SCUPPER (MAG 206-1, 206-2 & 206-3)				
Bid Rank	Department Estimate		17.000	\$7,500.000	\$127,500.00	
1	D B A CONSTRUCTION INC.			\$3,290.000	\$55,930.00	-56.1%
2	GRANITE CONSTRUCTION COMPANY			\$7,000.000	\$119,000.00	-6.7%
9130001	CU.YD.	RIPRAP (DUMPED)				
Bid Rank	Department Estimate		61.000	\$400.000	\$24,400.00	
1	D B A CONSTRUCTION INC.			\$240.000	\$14,640.00	-40.0%
2	GRANITE CONSTRUCTION COMPANY			\$311.000	\$18,971.00	-22.3%
9170003	L.FT.	EMBANKMENT SPILLWAY				
Bid Rank	Department Estimate		197.000	\$300.000	\$59,100.00	
1	D B A CONSTRUCTION INC.			\$140.000	\$27,580.00	-53.3%
2	GRANITE CONSTRUCTION COMPANY			\$556.000	\$109,532.00	+85.3%
9230003	HOUR	ON-THE-JOB TRAINING WITH GOALS				
Bid Rank	Department Estimate		600.000	\$3.000	\$1,800.00	
1	D B A CONSTRUCTION INC.			\$3.000	\$1,800.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$3.000	\$1,800.00	+0.0%

*** Bid Tabs for Proposal Pamphlet 2021034 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$80,000.000	\$80,000.00	
1	D B A CONSTRUCTION INC.			\$39,170.000	\$39,170.00	-51.0%
2	GRANITE CONSTRUCTION COMPANY			\$75,000.000	\$75,000.00	-6.3%
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS) (MANUAL/MECHANICAL METHOD)				
Bid Rank	Department Estimate		28,000.000	\$0.800	\$22,400.00	
1	D B A CONSTRUCTION INC.			\$0.350	\$9,800.00	-56.3%
2	GRANITE CONSTRUCTION COMPANY			\$0.490	\$13,720.00	-38.8%
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS) (HERBICIDE)				
Bid Rank	Department Estimate		16,000.000	\$0.550	\$8,800.00	
1	D B A CONSTRUCTION INC.			\$0.550	\$8,800.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.150	\$2,400.00	-72.7%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$90,000.000	\$90,000.00	
1	D B A CONSTRUCTION INC.			\$120,086.000	\$120,086.00	+33.4%
2	GRANITE CONSTRUCTION COMPANY			\$60,000.000	\$60,000.00	-33.3%